534 BRERAERBR7AGSTE—T v R—ILKE

[F3E—J ISR DER

S 554898

. S~ . B et N
A/S—pk &E BAE REEEA TS JIE 432
(1)9:30 0 (5)10:58 0 0
&R —K Vil 3431
12 - 271210 -49| 0 2
C)&SO 3 912:26 0 3
A= —K —X 2431
27 — 121 5 0 -38(0 5
()10:58 4 ()12:26 4 8
TEEA | &5 —K 142
49 - 09|38 - 016 15
si—t | mmm | mEms |amkm®| AxTx DR Ew
29:52 4 (01248 . o
FEAE —K LI 142
21 — 151 4124 - 12| 4 8
()9:52 1 an13:10 4 5
TEEB | —K LLI3 2431
15 - 21| 3 54 - 0 | 8 11
12:48 6)11:20 0 0
agxsEl LE 25 443
- 7 - 3111 1
()13:10 ()11:20 4 4
NET% L5 25 3431
_ 0 - 54 31 - 715 5
SRB> mmen 3 14 yEmtE
et 1 e
[F:8)—5 1 —$E DL s =
WA T WA T A T
2SI 27 7 10
VAESB 4 8
VAESA 3 6
WA T WA T| ABEXK 4 5
0 1 0 3 BE 0 3
ABKE UAESB
WA T WA T
0 2 4 5
@13:32 12:04
#A L3
Bm T Em T
4 5 0-15 0 3
ABAK YAESA
B T @10:36 fm T
0 0 =5 3 3
SRB> mmysy 2 5 YAESB

RANIEHE

K.O.BZl

Lo1)—

s

N

T#H

4h51 U E

A
I
—=|=|Oo|N| N~

TREURAT

=Yy
141
2{xz
3z
43z
51z

KRAIEE

K.O.B %l

L2—

s

TR

TH

=

[

51921

=1

IALLE

—|=|OIN]| A~

TREUNAT




BALRTD 21—)L

KOBS R S F — Ly Lt Loy—
19:30 1 =1G) BHE —K
29:52 2 TEFREE REEB —K
@10:14 2 ENIST YAESB 2%
@10:36 YAESA ABRK &%
®10:58 B RELEA A
®11:20 1 ABKEE | N\XI% A
D11:42 3 FRNUS5T | ABKEE (Tt

®12:04 4 YAESB YAESA [1Tpz:;

@12:26 BAE RELEA (ITF:
12:48 1 ABREE TEFNEE IEN

@13:10 7 RELEB N&ZI% —X

@13:32 1 ABREHE | ABXX A

XK= 1L TORIEXTR — S
1400 ’ REEA | A R

KA1 #tKB1
14:30 ‘ 2]H57 | YaAESB e
1585005 Ris=t- iR =t BacL
SEERE> gmma 3 14 FEsAE
< —RRRHE >

FRIST 22 5 YAESB



